156

== g

=]

BT 8

Through-type Terminal Block

[~ulican

£ F_,Pitch 16mm

Bidl] =
T)_:I;e Number F2058E
= &
ating ACB00V  75A
HEAR B 500V 1000MQ &I
Insulation Resistance | DC500V  1000MQ and over
i & £ 3000V 1 RAEE
Withstands Voltage [AC3000V 1 minute and over
B BHR 22.0mm?
Compatible Wire )
&R #w
Number of ;oles 3P

—f& N7/ General Tolerance +0.5
6.5 66+0.6 6.5 ‘ REE/Scale ¥4 HAL/Unit mm ‘
17 16 17
2 3
o~ % 1 o~
oy Jan =
L7 | N H @
2— ¢55 S ~
™~ o
\
12.5 M3 @ 19
3 13 16
—
) ,—E\L | N
= ¥ ] a ‘ ! i mm—
3 A F |
: S = 1 I —w 1 I e 1 : ‘> U? S n é
STt il i b o)
T o 5N
I Lo . | ﬁ i
1 NEE N
‘ | T I / |
| ™ T ?
— |
==l 0 @/ ———
H_) H_) H_) o3 kT_J
Aen)
16
51
o i3k [Ea ] ——[Ex@E] —3]P. 19
® Ordering Form : Type No.  Nominal Diameter No. of Poles (P)
® G A L A 1L 213 M5 A2, AN-m, M6 #%3.0N-m TF o 24
M5 & M64HD FFTOTHIRET V)
® Connection screw : Tightening torque is M5 : 2.4 N-m, M6 : 3.0 N-m.
(Specify either M5 or M6 for a connecting screw)
W11t/ Specifications.
8% /Part No. % #.Part Name # ®,/Material #i1& /Standard ~tik/Size JLEB / Treatment s %,/ Remark
1 W Base PPS UL B M Black
2 AL R Terminal # 4 Brass C3604B 29 Ay¥  Nickel-Plated
3 WERLE R Screw #  Steel SWCH,/SPCC MEX9-BX120 | =vr by NickelPlated | 7V=F> Y E X Typell
4 Rl Marking strip v =— Polyvinyl chloride UL W IE t1.5 B fi White
5 T3 N — Cover AL == Polyvinyl chloride UL wOJE t 1.5 % B Transparence
6 HN=1E¥ A Cover retaining screw # 4] Brass C2700W M3 =y Av¥ Nickel-Plated | PW 2 AZAFNX Typel©
7 An=1kHFy b Cover retaining nut # 4 Brass C3604B M3




